pER A EE=DS
FRAERY /32 R

JC &7

S - A1
mAERALESN i
. mawE | EEMSE | o) 2 | e
i
(mm) e — moR | e
FR/AE R SRS A
JC20 125 20 M8 x 1.25 300 0.5
> JC30 10 125 25 .32 M10 % 1.25 800 0.5 .
JC40 14 150 40 M14x 1.5 1250 0.75 B
. JC631 150 50 - 63 M18 x 1.5 3100 1

FERRAE SR /SRS AR
JC20 100 20 M8 x 1 300 0.5
JC25 10 150 25 M10 x 1.5 800 0.5
JC32 10 100 32 M10 x 1 800 0.5
JC40 12 125 32-40 M12 x 1.25 1250 0.75 5
JC40 12 150 40 M12 x 1.5 1250 0.75
JC40121 5 32 -40 M12 x 1.75 1250 0.75
JC50 16 150 50 M16 x 1.5 3100 1
JC63 16 200 50 - 63 M16 x 2 3100 1
RSRTAE
fiﬁﬁl’él lm;!;zxc%mm(ﬁ&)
e |+ EA R BASE
F [iES (mm) BRATR P
20 20 125 M8 x 1.25
T | 30 25 - 32 10 125 M10 x 1.25
m | 40 40 14 150 M14 x 1.5
63 50 - 63 1 150 M18 x 1.5
p i
ERES S5 IMPa T EREE %
REFK AR
EREE —10 70C ‘ )
-— fis
D-CJ
-XUJ
HA
1131

O
3




JC #7l

i
FS R MR &5t
1 | e % HEE
— 2 | o= 5 EEh
| 3 | g %
| ! 4 | m= & BEERE
| 5 | pas B
6 | ExiEs % BE
L 7 | e % BEE
8 | zm %
SME R~FE
JC20 63
" 2
= an
r ? & J
J N~
H
B
A
FRAER SE  1MPa
) M sl | BAER BAMERA
BAERE me - A | B H BARE HE A
AGER| B8 P
20 JC20 125 8 1.25 44 175 21 7 7 13 30.5 8 300
25.32 JC30 10 125 10 1.25 4 5|15 24 8 8 17 34 800
40 JC40 14 150 14 1.5 60 20 31 11 11 22 38 13 1250
50-63 JC63 1 150 18 1.5 745 | 25 41 14 13.5 27 47.5 15 3100
HRER SE 1MPa
M Sl | BAER BAMER
BARE me - Al B H BARE RS
AMpEE| 8 b
20 JC20 100 8 1 44 17.5 21 45 7 7 13 30.5 8 300
25 JC25 10 150 10 1.5 4 5|1 5| 24 5 8 8 17 34 800
32 JC32 10 100 10 1 4 5115 24 5 8 8 17 34 800
32-40 JC40 12 125 12 1.25 60 20 31 6 11 11 22 38 13 1250
40 JC40 12 150 12 1.5 60 20 31 6 11 11 22 38 13 1250
32-40 JC40121 5 12 1.75 60 20 31 6 11 11 22 38 13 1250
50 JC50 16 150 16 1.5 715 | 22 41 7.5 14 13.5 27 445 15 3100
50.63 JC63 16 200 16 2 715 | 22 41 7.5 14 13.5 27 445 15 3100
1132

O



FohiEk
srnoan JC R

MHERTE
ﬁﬁﬁ"ﬁﬂ%ﬂ (mm)
s IBRRS d: ARER H B C
JC20-8-100 | DA00207 M8 x 1 5 13 |15
) d JC20-8-125 | DA00169 M8 x 1.25 5 13 | 15
JC32-10-100 | DA00141 M10 x 1 6 17 | 196
JC30-10-125 | DA00142 M10 x 1.25 6 17 | 19.6
f\\ JC25-10-150 | DA00140 M10x 1.5 6 17 | 196
) JC40-12-125 | DA00145 M12 x 1.25 7 19 | 219
KJ JC40-12-150 | DA00146 M12 x 1.5 7 19 | 219
= | JC40-12-175 | DA00143 M12 x 1.75 7 19 | 21.9
H B JC40-14-150 | DA00148 M14 x 1.5 8 22 | 254
JC50-16-150 | DA00151 M16 x 1.5 10 24 | 277
JC63-16-200 | DA00150 M16 x 2 10 24 | 277
JC63-18-150 | DA00153 M18 x 1.5 11 27 | 312
&4
. FrimigE
JCEARBMHINMPRIER, MEFTEEM, FIRBLABHASEE,
- B E
AR SHIRAERLT, BRBTRESHEE,
fhhEBRS ERERELES
P215215 Jc20
P215225 JC25_ JC30. JC32
P215235 Jc4o
P215245 JC50. JCB3
D-J
-X[J
BA
#whl
%SVC 1133





